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����� &�'	*+� ����,(HAPS) 
 ����- ���� �!./0 12FS 34�$��� 5 �6��7�	 GHz 28 (GHz 28,35-27,5)8 GHz 31 (GHz 31,3-31) . 5 :�;60 <=	8

 �� >?@��1 12 3 �� 
���
��� ��� A�!"�B�� ������� 
����? C7, �7��0  DE<�"�� F��/ 12 �$�/ ��8 �$�/ 12 �$�/
���- GH7B + I�'/ 
�$% 5 DJ��B �? C7,� (FWA). 
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 0 (  
�$% O�P��	 #�� ��6�Q� ��R����H��� N0
����� &�'	*+� ����, (HAPS)B�	�=���� ��ST 5  ��4 G� U'
V=6�$��� 

W(  X/0 NY :�=./ 
�4�$���GHz 47 5 �
�7, Z����� D����� �
0   ( [S�� 3����� O��0 ��B��? =�\0 D��/<0
 3!4=�� 5 �R*��� N��7S�� ]7	 5 =$�� A�$�5.537A8 5.543A D�6<�=�� ^_��� �� �B�*< `a ��b <<=��� c��  

18�32 GHz=�� 
+��	+� &�$4 5 V5�d2 ��T �6�L ��/�H�2 5 =.�7� �6�6<� 

e(  34�$��� N0GHz 28,35-27,58 31�31,3 GHz K80 f�B0 C7, ������� ����� C7, N�,g��D 

 ����� �
� 

 0(  O�"� �6�6<�=�� 
+��	@� G��"�� =ah�� N01997 
�$% ��ij�� :���H?0 kd8 HAPS 5 ������� ����� 5 
 34�$���GHz 47,5-47,28 47,9�GHz 48,2 V 

W(  �4=�� N0537A.5 �� ^_��� l�$��� 5 ������� ����� C7, k6g���� N0 C7, m�6 �6<�=�� GHz 28,35-27,5 �� 
;60 �H!��:�n4 �� X��!"�B�  
�$% �SHAPS E*�\��� 
�$o� A�!"�B� N08 D�7���� N��7S�� 5  l�$��� ��p C7, =����

 �� ��q�� ��ij��� 
�$%HAPS ������� ����� �!./Y �6��7���� F�rY� 12 *�d ������ [S��6 +0 C7, s*Y� 12  

 
���� 80 k6g���� K8Y���Y� t=�j=�c�
�� �6�!Q�� [��$6 +8 V 

e(  �4=�� N0543A.5 �� ^_��� l�$��� 5 ������� ����� C7, k6g���� N0 C7, m�6 �6<�=�� 31�31,3 GHz  ��
��;60 X��!"�B� �H!:� 
�$% �S4 �� HAPS [S��6 +0 C7, D�7���� N��7S�� 5 E*�\��� �$o� 12 s*Y� �� ��q�� 

 
�$% A�!"�B�HAPS 
���� 80 ������� ����� �!./Y �6��7���� F�rY� 12 *�d ������  k6g���� K8Y��c=�Y� t=�j� 
V�
�� �6�!Q�� [��$6 +8� ��Y� k�  �4=�� N�S�Q�545A.5V�6<�=�� ^_��� ��  
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<(  �4=�� N0543A.5 
�$% A�!"�B� [S��6 u+0 C7, :�;60 m�6 �6<�=�� ^_��� �� HAPS l�$��� 5  

31�31,3 GHz  12 *�d �������� �7"'��� 
��� K80 k6g�	 �p #�� l�$��� 531,3�31,8 GHz 5 ��Y� k� D N�S�Q�
�� ������� U6�"� 3������� 5 E<*��ITU-R SA.10298 ITU-R RA.769V 

 �(  *�=��� N0(WRC-03)  145[7T N�j� 
�B�*��� J�=R2 D�R�, �v C7, �� �_����8 �B�����8 ������� �_��
 
�$% ��ij�� U6�"� �6�L ��i� ��!�.����HAPS 34�$��� 5 GHz 28,35 – 27,58 GHz 31,3 – 31D 

 ���� 

1 �� �� X/�� 3�w7�� 5 ��!;��� 
���
��� A�!"�B� �H!18 2 
�$% O�./ �� ������� ������ HAPS O�./ 12 
 x��7���� ������� �����) �� E<�"�� F��/ 12 �$�/P-MP) (8 �� �$�/ 12 �$�/(P-P)) (=./� 3�.?@�� 18 2(V 

2  >w7�� 5 ��!;��� ���
��� A�!"�B� �H!�� �� X/��3���� 
�$% �� ������� �� HAPS ����- ���� O�./ 12 
 l�$��� 5 x��7�	GHz 28,35 – 27,5V 

3  >?@�� 5 ��!;��� 
���
��� A�!"�B� �H!�� �� X/��18 28 3
�*�<y� 3� ��_��- 
��4�'	� kd�� . 

 ������1 � ������� 12 &�R=�� GiS�6 ITU-R F. 1569I ��RI�r 
�!7"� A8��	 ��,  
�$% O�.�� �7� 
�HAPS. 

 ������2 � 
�$% O�./ �� ������� ����	 �j4��� 
=R HAPS `����� GH7B@�� I�'��� O�./ 12 (FWA) 0�B0 �6*����� 
�w7�� 5 ����	3 1 82 . ������� 5 �b����� ������� ��'z 
���{ |S	 �
�6 �48ITU-R F.1608 �b��� m�7�	 5 

���7$�� ��'��. 

 ������ 3� �"	 ��!4=�� 
�!7"�� 3�w7�� 5 18 2����- A�B*y� e=� ���  . N�H6 �7b Dc=�Y� 
�!7"�� N�j� ��0
:�<���B� ]�I8 ���"��� }'�� �~��?t��� �b����� �_����� 12  . ������� N0 12 E*��y� *�q �!\ITU-R F.758 e*�	 

0 �
;"� �!;�	 #�� DO�.��� 
�!7"� �"�������� �_��� =./ �
R8 �� ���? 0�B. 

-$��. /1 

�$��+ ���
� �� ���	��� ������ ��01��  ������� ��	
� "FS2����3��  

 '�(�)*� ����+ ������ ����HAPS%&  45$36�� 7�(��� ���
� 

 8�����FWA9:	��� ;��
 %& ���
 ��  

 �!����� "GHz 28,35 – 27,5, GHz 31,3 - 31 

1 ����� 

O��6 ������� 
�!7"��8 ������� ������ ���
�� >w7�� ��� 
����	8 5 �!./Y� 3� 
�B�*��� �B���� �!"����B #�� ��ij��� 
 
�$% A�!"�B�� ������� �����HAPS `����� GH7B@�� I�'��� �!./08 FWA 5 E<�"�� F��/ 12 �$�/ �� �!"	 #�� 

 34�$���GHz 28,35 – 27,5 8GHz 31,3 - 31 .E<�"�� F��/ 12 �$�/ �� �!./Y� N�H�	8:E<�,  E�?�8 E�,�4 �$% �� 
E<�"�� t=�j� 
�$%8. 

 I�'/ O�./ 5 �R�6 +8FWA E�,�4 �$% 3� �!
��2 *�j�� <<=��� G4�$/ A�!"�B� �HL E�,�4 FWA t=�j�� �$%8 
FWA .������� 
+�? k�M 5 =.��� GiS�6 DX�7,8. 
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2 ��� ��
� ���� �� ������� ���� ���HAPS ��!� ���� "# FWA$%�&�� '��� "# �
�� ��  

1.2  ��
� %�
�� �� ����(HAPS ��!� �
� "# FWA 

<�$�� ��$�/ ���? �� ������� E*�4 12 ������ ��6HAPS  I�'/ �$% 12 FWAD I (dB(W/MHz)) ��<�"��� D)1.( 

FWAfRxHFFWARxFAtmHmsFBHBHTxBHTx LGLLGPI
mnmnmnm

_______

)()( −θ+−−θ+= (1) 

��?: 

PTx_HmBn 

:  ��$�/ ���Q A�B*y� E*�4 �b��\(Bn) 
�$o HAPS (Hm) (dB(W/MHz) 

GTx_HmBn 
(θHmBn_F

)
 

: <�$�� ��$�/ ���? G_��� [�\  HAPS �$% ��q��FWA (dBi) 

LS 

:  E*���U�� <�$�� 3� =? J�;b HAPS �$%8 FWA (dB) �!\ ��K���� �w��� C7, ^d��: 

    ⎟
⎠

⎞
⎜
⎝

⎛

λ
×π= 00014

log20
d

L
S

 

d:  <�$�� 3� �b����HAPS �$%8 FWA (km) 

λ:  �R��� A�T(m) 

LAtmHm_F 

:  <�$�� 3� x��� Z����+� E*���HAPS �$%8 FWA (dB))  &�R=�� CR=6 ����'��� �� �6��
 ��6���� 1213�w7!7� 1 8 2 ������� 12 ������ ITU-R F.1404 Z����+� 12 ��=�6 ��? D 

��=��� A(H,θ)). 

GRx_FWA (θF_Hm
)
 

:  �$% A�S��B� G_��� [�\FWA <�$�� ��q�� HAPS (dBi) 

LfRx_FWA 

:  �$o �6�i��� E*���FWA A�S��B+� �
R 5 (dB). 

A��Q� �H�8C7,  D�S���!7� �6*�=Q� J�d�;�� 12 ������� E*�4 �S�/ I/N������� ��<�"�� A@� �� D : 

  

)1010293log(10/ 610/ ×××−= NF
kINI                dB (2) 

��?: 

k:  N������� `��-=23−10 x 1,38  (J/K) 

NF: ���, �$o J�d�;�� FWA (dB). 

2.2  ��)*+ �
� �� �������HAPS �
� "# FWA 

 ��d*0 �$% �� ������� E*�4 C7, A��Q� �H�HAPS �$% 12 FWA D((MHz/W)dB) I ��<�"�� A@� �� D)3(. 

FWAfRxHFFWARxObsAtmsFHGSTxGSfTxGSTx LGLLLGLPI
_______

)()( −θ+−−−θ+−= (3) 

��?: 

PTx_GS :  ��d*0 �$% �� A�B*y� E*�4 �b��\HAPS (dB(W/MHz)) 

LfTx_GS 

:  ��d*0 �$o �6�i��� E*���HAPS (dB) 

GTx_GS 
(θH_F) 

:  ��d*0 �$o G_��� [�\HAPS �$% ��q�� FWA (dBi) 
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Ls:  E*���U�� ��d*0 �$% 3� =? J�;b HAPS �$%8 FWA (dB) 

LAtm 

: � ��d*0 �$% 3� x�R Z����� E*��HAPS �$%8 FWA (dB) ������� A�!"�B�� [�w�	8 D
ITU-R P.676. 

LObs:  E*���[�Q� ��d*0 �$% 3� HAPS �$%8 FWA)  +���	���7$�� ��'�� �b��� W��? 5  (
(dB) 

GRx_FWA 
(θF_H)

 

:  �$o A�S��B� G_��� [�\FWA ��d*0 �$% ��q�� HAPS (dBi) 

LfRx_FWA 

:  �$% 5 �6�i��� E*���FWA (dB). 

�H��S�/ C7, A��Q�   J�d�;�� 12 ������� I/N ��<�"��� )2(. 

.3 ������� ��,-�� ��)�.�/� 

1.3  ����HAPS 

 O�./ 
�!7"� ��8 <=6HAPS ������� 5 ITU-R F.1569. 

2.3  ����FWA �
�� �� ��01�2 #$%�&�� '��� " 

 ����� ��61��� ��  ��6�2 O�.�� �d=�'�� 
�!7"�� FWA D������� ������ O���7� E<�"�� F��/ 12 �$�/ �� ��ij�� ��? 
t=�j� �$%8 E�,���� �$% C7, �!�j6. 

E�,���� �$w� >7"�6 �!�b ��0 FWA E<�,2 �$�8 G_��� ���? �$� =./ �
R8 �� ������� �@��� 
+�Q� �B�*< `a D
<<=��� A�!"�B� .D���8 s=�'6 [�\=	�7�\ �\ �b��� ��, E�,���� 
�$%  :��b�=iR �6=��.  

� ����� (:  ������� 12 G_��p� ���? �$� ����6ITU-R F.1336 ��/ �v C7, ��"4�8 <<=��� A�!"�B� E<�,2 8�S	 �!\ 
) <<=	 
�4�$/ �!"��	�!��� 4 x 4 E�,�4 
�$% k�*0 �� G$i	8G_��p� ���? �
���� &�$4  �*�4 °90 : [�/ <�"�6

*=H� �v C7, 
�$% k�*0 �� �,�!�( 

� �����(:  ������� 12 s=�'�� G_��p� ���? �$� ����6ITU-R F. 1336 X	�I <<=��� E�,���� 
�$% k�M �!"��	8 D
 E�,���� �$w!7� m�P��) N�H6 N0 s=�'6 DX�7,8 ���j�� �$P��`!��� �68�g ��q��( 

� �����:( "�6 ����� x<8�� �� �6�"�� ��!�"�B x��� =�Y� DA�S�� �v C7, :��"4�8 s=�'�� G_��p� ���? �$� � 

)������� 5 N8�� U�(8 D00 ���Q� 5 ���I G� <<=��� A�!"�B� E<�,2 �$� N .( 

4  ���� ���� 3 ���4� ����� 5,6 �,7�+FWA$%�&�� '��� "# �
�� ��01�2  

����� ��� 5 <=6 �S�/ m_��� W��? I/N���7$�� ��'�� �b���8  . O�.�� ����� O�.��� 
�!7"� Z��� ��0FWA 
DE<�"�� F��/ 12 �$�/ �� ��ij�� bt��
0 
+�? �@-   (W8 (e8(E�,���� �$o� 
����? 5 �~ ��Y� ��6 D . s=�'68

 t=�j�� �$o X	�I �!��� A�!"�B� :�;60FWA 
�$% �@�� ��E�,��. 
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1.4  %�
�� �� �������HAPS ����� FWA 

 <�$�� �� ������� �B*�< ��,HAPS E�,���� �$% 12 FWA ��T��� =j/ s=�'6 DHAPS 21 × 11 �7S	 ��$�� 5 
 �
�?���Km 1 000 × Km 500 . �S�/ m_��� �����	8I/N ���< �
'���  �$% 3� �b���� 5FWA <�$�� U.��� �$�/8 

HAPS5 k4����  �B8 �� [/�1 000 km. 

���Q� A@� ��8
� E�,���� �$o ����_=�� ���Q� X��	 DFWA  :E<�,G�bY� ��q+� �v . ��� s=�'6 Dc=�0 �
R ��8
 t=�j�� �$% �6��	 ��6 N0 ���? 0�B0 ��7L s=i�8FWA <�$�� �v =��S� �v C7, HAPS 12 ��6 &�'	*�� °60. 

1.1.4  ����� �� ��	
��	HAPS 

����	 ��� �� FWA 

 37Hj�� 5 <=	18 2 �S�/ m_��� I/N E�,���� �$o FWA0 3���w7�   (W8 ( �����7� �d=, N�H	 ����, DK����� C7,
 ��T��� ��HAPS E<�"�� 21 × 11)  �Hj�� 12 &�R=�� CR=63 .( ��=��� ���68"front " �Hj�� 51 E�,���� 
�$% N0 

�� �\=� �v <���	 ��T�HAPS:�
R8 E<�"��� `!��� �68�g ��q� 5 XR��  . �� �\ Uj68"[/��� "8"�7�� " 
+�Q� 12
K����� C7, D��'7�� �
�� ��8 ��S/��� �
�� �� <�$��� E�,���� �$% �p@� �� c=	 #�� . �S�/ Uj	 �!\I/N �!�4 0�B0 12 

 ��T��� ��$���� O�Q� k�M 3�HAPS�B�� O��P<<=��� A�!"�B� E<�,2 O�./ . 

 �S�/ N0 D37Hj�� �� �?@�68I/N  �v �7S	 c�����15− dB . J�d 58 DX�7,8E<�o� F8=j�� ��T��� N0 ^;�6 D��� 
HAPS E�,���� �$% 12 O�� ����	 12 G;'	 + �4 E<�"��� FWA . 3�
�� x8��	 �����Y� �
�� N0 :�;60 �?@�68

�8 ��S/��� �Hj�� 5 ��'7�20 �4 G_��p� �$P�� NY D��b s=X/0 m_��� �I �7���`� �68�g ��q�� . 

 E�,���� �$o A�S�� �v C7, G"4���� ���Q� �$� A�!"�B� ��,8FWAe ���Q� 5 A�Q� �� �!\ ( �S�/ �'� ��6 DI/N 
 �Hj�� 5 ^d�� �� �!\ ��'T �v C7,4 .e ���Q� 58( �S�/ �7S	 DI/N �v c����� 20− dB. 

 �Hj��1 

 ���� �����I/N

����	 ��� � FWA � ������   (��	
��	 �� ���!"# 
�� 


$%��� �� HAPS 
�
"�&	 km 21×11 

 

������� �	
 �� �
����FWA 

 ��	�� ���� ��� ��HAPS) ��( 

������� ��!�
��"#$� ��!�
��%��!� ��!� 

(d
B
) 
I/
N
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 �Hj��2 

 ���� ����� I/N  

����	 ��� �FWA' ������ ( 
 
$%��� �� ��	
��	 �� ���!"# 
��HAPS&	  
�
"�11 × 21 

 

 

 �Hj��3 

 
$%���HAPS )�� ��*+� ���,��� -��# ����� km 1 000 × 500 

 

1609-03
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������� �	
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 ��	�� ���� ��� ��HAPS) ��( 

(d
B
) 
I/
N
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�Hj�� 4 

 ���� ����� I/N  

����	 ��� �FWA. ������ ( 
 
$%��� �� ��	
��	 �� ���!"# 
�� HAPS 
�
"�&	 21 × 11 

 

2.1.4  ����� �� ��	
��	HAPS/!�0� ��� ��  FWA 

 �S�/ m_��� >7"�6 �!�bI/N  t=�j� �$oFWA <�$�� �� ����	 �8�? ��, DHAPS �S�/ 0�B0 ^S�	 D<='�� 
I/N �v �7S	 EUS\ �!�4 30 dB �Hj�� 5 ^d�� �� �!\ 5 .12 ]�I kR=68�j� �$o �\0 G_��� [�\  t=FWA 

 t=�j� G_��� N0 s�=�b� �, :@;b DE�,���� �$% [�H� �/*���FWA <�$�� �v =��S� �v C7, <��� HAPS 
 ��*�4 c��4 &�'	*� �68�g �6�w��°60 . <�$�� [S���B DX�7,8HAPS A�!"�B� ��, t=�j�� �$% 12 kB�8 ������ 

X	�I <<=��� . �Hj�� 5 �?@685 �i��S�� �b���� N0 200 =$�� G_��� A�!"�B� �� A�w��� �$�/ ����	 �\ 30 12 �B 
 =$�� G_���60 �B ) �.?@�� 12 &�R=�� CR=61 A8��� �� 2.( 

1609-04

0 100 200 300 400 500

–60

–50

–40

–30

–20

–10

������� �	
 �� �
����FWA 

��	�� ���� ��� ��HAPS) ��( 

������� ��!�

��"#$� ��!� 

��%��!� ��!�

(d
B
) 
I/
N
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 �Hj��5 

 ���� ����� I/N  /!�0� ��� �FWA���!"# 
��  

 ����� �� ��	
��	 ��HAPS�!1��  

 

2.4  ��)*+ �
� �� �������HAPS ���� "#  FWA 

��7w��� c=��6��b  ���Q =�S�� �� ������� 12 �S�����  ��o� �$HAPS �$% 12 ��d*Y� FWA . DO��	 �� 12 �b�dy��8
 s=�'�6� N0 �$% &�'	*HAPS �$% &�'	*�8 ��d*Y� FWA) t=�j�� �$%8 E�,���� �$% (N�68���� G_��p� [�\ N08 D

 E�,���� �$oFWA  �$% �v XR���HAPS0 �@��� 
+�Q� 5 �?�8 ��d*Y�   (W8 (e8 .( ���? 5 W��Q� c=�8
����� �$% ��8 DN��$o� N�H	 N0 �$6=� D��b <='�� HAPS �� =�\0 &�'	*� �68��� ��d*Y� °208 o� �$FWA  ��q��

 G�b0 �6��	:�
R8`!��� �68�g �v XR��  . �S�/ �7S	8I/N�'��  ��7w��� ��p �d=15− dB. 

1.2.4  �� ��	
��	2	 ��HAPS 

����	 ��� �� �$�34	 FWA 

 �Hj�� =
.�66 �$% [S�	 ����, ���7$�� ��'�� �b��� HAPS:@���	 ��d*Y�  E�,���� �$% 12 FWA . A�!"�B��8
 �S�/I/N ��*�4 #��8 �d=�'�� 15− dB �d=�'�� �<Y� &�'	*+� �68�g8  �i��S��°20 �v ��'�� �b��� �7S	 D5�\  . 58

 E�,���� �$% [�/ J�dFWA �*�4 ��'� <<=	 A�!"�B� E<�,�� *=H� �v C7, 2�3b D�\ � �$o t=�j�� �R����� N
 E�,����FWA �$%8 HAPS:�*�"�� N�H�B ��d*Y�  A�!"�B� ��6 � �� ������� ��'z 
����	 �� E�?�8. 
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 �Hj��6 

	 �5��� 6
7 ��
�� �8+��&	 ��1�2	 ��HAPS�� 9:�	
# �$�34	  

 

����	 ���FWA �;<	* � ��	
= >�1#3	 2	 ��HAPS�$�34	  

 

2.2.4  �� ��	
��	2	 ��HAPS/!�0� ��� �� �$�34	 FWA  

 �Hj�� =
.67 ��L ����, ���7$�� ��'�� �b��� o� �$HAPS:@���	 ��d*Y�  t=�j�� �$% 12 FWA �S�/ A�!"�B�� 
I/N �i��S�� �d=�'�� 15− dB . �S�/ A�!"�B��8I/N  �i��S�� �d=�'��15− dB �i��S�� &�'	*+� �68�g8 °20 �b��� N�H	 D

 �v ��'��80�\  . t=�j�� �$o t=�j�� �R����� �"6 X�7,8FWA �$%8 HAPS8< :@�w��� ��d*Y�  N
����	 ��'z 
�������. 

 �Hj��7 

�&	 ��1�	 �5���# ��
�� �8+� ?��2	 ��HAPS9:�	
# �$�34	  

 /!�0&	 ��� ��FWA = ��	
 � >�1#3	 �;<	*2	 ��HAPS�$�34	  
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5 8���9 

3S6 
@B=� �� ������� ������ ��6=T >w7�� ��� HAPS E�
R0 12  �$% A�S��B�FWA E<�"�� F��/ 12 �$�/ �� 
 �S���� ����7"�I/N *��68 
+�? �"S� ���7$�� ��'�� �b��� =j��� 
�$o �d=�'�� FWA8 HAPS. 

����� �2 

 ��	
��� �
��� � ��

� ����� �
 ������� ������ �����
 ����!"#
$%HAPS   
 ����� &'FWA� �$�� &' �$�� �
  (
$��� )GHz 28,35-27,5*  GHz 31,3-31 

1 ����� 

 5 �!./Y� 3� �B����� 
�B�*< 5 �p�!"�B+ ��ij��� 
���{8 ������� 
�!7"��8 ������� ������ ���
�� >w7�� ��� A8���6
 �!./0 A�!"�B�� ������� �����HAPS8 FWA 34�$��� 5 �$�/ 12 �$�/ �� �7��"�� 28,35-27,5 GHz8 GHz 31,3-31 

 �?�8 e8g �� �$�/ 12 �$�/ �� O�./ N�H�683�6�6<�* 3�$% ��:�
R8 3�
R��  XR�� ) �$o� C!��	 D���S��� s=i�
 �$% >w7�� ��� 5 �6�6<�=��FWA.( 

2  ����� ����( ���� ������HAPS ���� "# FWA�
�� "# �
�� ��  

 O�./ 3� ������� W��? ���
�� N0 ��HAPSO�./8  FWA G� �$�/ 12 �$�/ �� ��ij�� ]7	 �-�a 5 �
'�8 � #�� 
����� 2 >w7�� �� 1 D��� W��Q� ��<�"� J�i�2 � ���. 

3 ������� :����� ��)�.�/� 

1.3  ����HAPS 

 O�./ 
�!7"� ��8 <=6HAPS ������� 5 ITU-R F. 1569. 

2.3  ����FWA�
�� "# �
�� �� ��01�2  

 ��6����� 2� ��  ��6���2 O�.�� �d=�'�� 
�!7"�� FWA������� ������ O���7� �$�/ 12 �$�/ �� ��ij�� . 

4  ;<���� �,7�+4� ���� ���� 3 ��2��FWA�
�� "# �
�� �� ��01�2  

1.4  %�
�� �� ����(HAPS ���� "# FWA 

 <�$�� �� ������� �B�*< ��,HAPS �$% 12 FWA �S�/ m_��� �����	 DI/N��  ���< �
'��b���� 5 �$% 3� FWA 
 <�$�� U.��� �$�/8HAPS . N�H	 N0 ���? J�B0 ��7L J�=R2 s=i� ���Q� ��� 5 DW��Q� A@� �� Ds=�'68 

 �$%FWA�v =��S� �Hj� E<���  �$��< HAPS �*�4 &�'	*� �6�i� °60. 
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 �S�/ m_��� >7"�6 �!�b8I/N  �$% 5FWA�� ����	 �8�? ��, D <�$�� HAPS �S�/ 0�B0 ^S�	 D<='�� I/N  �!�4
EUS\  �v ��*�430  dB�Hj�� 5 ^d�� �� �!\ 8. G_��p �\Y� [�H�� 12 ]�I kR=6 �$o FWA N0 s�=�b�8 

 G_���FWA <�$�� ��q�� =��S� �v C7, <���� HAPS ��*�4 &�'	*� �68�g C�40 �6�w�� °60 D� ��8 <�$�� ��w�6 
HAPS:@���	  �$% 12 US\ FWAX	�I <<=��� O��P�B� ��,  . �Hj�� 5 �?@688 �b��� N0 200 �\ ����	 A�w��� �$�/ 

A�!"�B� �� =$�� G_��� 30�B  12  =$�� G_���90�B  ) �.?@�� 12 &�R=�� CR=61 A8��� �� 3( 

2.4  �� �������=� �
HAPS ���� "# ��)*>� FWA 

3� ������� m� �!�b8 �$% HAPS �$%8 ��d*Y� FWA x��� �<��� �v ���Q ��7w��� x=R 0 D=�S�� ����b  . �!\
 �$% &�'	*� N0 s=�'6HAPS �$% &�'	*�8 ��d*Y� FWAN�68����  . ���Q W��Q� x=R 08����� �$6=� ��b <='��� 

 �$% ��8 D3�$o� �6��	 N�H6 N0HAPS =�\0 &�'	*� �68��� ��d*Y�  ��°20 �$%8 FWA E<����:�
R8 DG�b0 ��q��  
 �68�g 5 XR����`!� . �S�/ �!�4 �7S	8I/N <<=��� �B���� ��7w��� ��� 5 15− dB. 

 �Hj��8 

 ���� �����I/N ��� � FWA@!"��	 
��  

 ����� �� ��	
��	 ��HAPS�!1��  

 

 

 �Hj�� ���S69 ��'�� �b���  �$% [S�	 ����, ���7$��HAPS:@���	 ��d*Y�  �$% 12 FWA .��'�� �b��� �7S	8 
K��? 92 �!�4 A�!"�B�� �\ I/N�i��S��  15− dB ��*�4 c��4 &�'	*� �68�g8 °20 . �"68�� �R���o t=�j�� �$FWA �� 

 �$%8 �$�/ 12 �$�/HAPS:@�w��� ��d*Y�  N8< �� 
����	��'z ������� . 

500
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 �Hj��9 

 ?��# ��
�� �8+��&	 ��1�	 �5���2	 ��HAPS9:�	
# �$�34	  

 ��� ��FWA = ��	
 � ��� >�1#3	 �;<	*HAPS�$�34	  

 

5 �A:� 

3S6 
@B=� �� ������� ������ �7�B8 >w7�� ��� HAPS 
@S���� 12 FWA �$�/ 12 �$�/ �� �� ��+���S�� I/N D
 
�$o �d=�'�� =j��� 
��7!, �"S� ���7$�� ��'�� �b��� ����	8FWA8 HAPS. 

 
�$% 3� <<=��� �B��	 �H!�� ��8HAPS O�./8 ��d*Y� FWA ^$B C7, � f�B0 C7, s*Yk4��� 5 t�=��+� D
8 G���6��� <<=��� m��z ��� �SB��� �_�B8 A�!"�B��/���T��� *��Y� �� �"�B x��� ¢�\ >���	 80 . ���"'�� l=$�� ��8

 �$% 3� ������� ��'P��HAPS O�./8 ��d*Y� FWA 
�$% kd8 G� HAPS k4��� 5 ��d*Y�  ��£ C7, ���j�	 +
 O�./ �� =��S� �vFWA .��� N0 :�;60 �?@�688 A@/ #�� N��?Y� [7�0 5 ������� E*��2 s=�"	 
�6��S�� 80	S�" �
�b 

 N��$%� �� =�\0 �b��100�!
;"� �, �\ . 

�+,���� �1 

�������� �1* 2 

�-

 .!
 � �+/0� #�1
2�� 34!	 5
6��7� )8/" 

 ��9
�
 )	HAPS)(
$��� � ��:5� #
$%*  

28,35-27,5 GHz* GHz 31,3-31 

*� 4 ��T��� 3� �_��� *���� 5 �6��� 
�g�i�� [S�� *�j�/+� 3��	 HAPS 3��	 �� �? �<0 A�!"�B�� ��d*Y� 
�$o�8 
 *�j�/+���6��� 
�g�i7 .������� 5 �wd��� �7�B���� <��? �4 *�j�/+� 3��	 �� �<Y� �Q� N�\8 ITU-R F. 1404 D 

 12 
���B� �4 `/�\ D��*8�� #�� ������� ���
��ITU-R P.676 . A8��� 5 �d=�'�� ¤���� 
�!7"� <=	81 ������� �� 
ITU-R F. 1404. 

 5 �6=.��� ����� W=�6 x��� x��� 3���7� ��!4=�� ����� <=	 �!\O��4Y���? D������� : 
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AL(h,θ), AM 

(h,θ), AH 

(h,θ) :  ��7H�� �6��� E*����(dB)� 7>T��!
�I ="�� �� s�'P��� ) <8�? 5 °22,5 �� 
J���B+� �� (8�� >T�� 
�I s="�� ���B����)  �� =�\0°22,5 D8 �� �40°45 �� 
J���B+� �� (8�� >T�� 
�I k'	=�� s="�� ��)°45J���B+� �� �� =�\0 80  ( C7,

K�����. 

h:  =wS�� ^$B c���� >b8 ��d*0 �$% s=, ��(km)V 

θ:  &�'	*� �68�g)
�R*<(K����� C7, D. 

 ����7� [6=���� x=R 08km ≥ 3 ≥ h ≥ 08 °90 ≥ 0 ≥ °0 . #�� &�'	*+� �68�g �� ��7"'�� &�'	*+� �68�g �6�L �H!�� ��8
 5 
<��?F8=� *�T2 *�j�/� �� J�;'Q� ������� 5 E<*���� ��6=$�� A�!"�B�� =ITU-R F.1333 . &�'	*+� �6�8�� �S�����8
 `L ��7"'�� �!�4°0 3����� A�!"�B� GiS�6 D�68��7� °0. 

1  %%.��� ?�
�28,35-27,5 GHz 

 5 ����"�� 
�<<=��� ��, ��'T �v C7, =i�0 ��� <<=��� l�$/ 5 3����� �"6�� >T�� 
�I �'P��� s="�� ���B����8 
 5 ����"�� 
�<<=��� ��, ��7�� �\08��>T��
�I k'	=�� s="�� ��  . DX�7,8 ��, 3��	 12 ������� ����� G;'	 

GHz 28,35 ���? 5 �� >T�� 
�I �'P��� s="�� ���B����8 ��, 3����� N�H68 GHz 27,5 ���? 5 �� ��$� 
�I
k'	=�� s="�� ��. 

[ ])θ0.1169+(0.2331 +)θ0.4466+(0.3381+θ0.03065+θ0.9505+121.28/=)θ 22
hhhAL ,( (1a) 

 ( )[ ]22 1394.04486.02688.002649.08167.01/63.11),( hhhAM +θ++θ+θ+=θ (1b) 

  ( )[ ]21067.03037.02163.08259.01/77.8),( hhhAH +θ++θ+=θ (1c) 

2 ��� ?�
� %%.GHz 31,3-31 

 3����� �"6�\0 ��, 3��	 12 ������� ����� G;'	 X�7,8 D*�\��� <<=��� l�$/ 5 ����"�� 
�<<=��� ��, GHz 31. 

 

( ) ( )[ ]θ++θ++θ+θ+=θ 08016.01980.04413.03416.002553.09323.01/54.19),( 22
hhhAL (2a) 

  ( )[ ]22 1203.03935.02740.002033.08137.01/76.11),( hhhAM +θ++θ+θ+=θ (2b) 

  ( )[ ]208949.02722.02378.08160.01/52.9),( hhhAH +θ++θ+=θ (2c) 



 �������ITU-R F.1609-1 

14

������� �2 

�	
����� 
1� 2 

 ���� ������FWA���	��� ������  

 ���� �����	 
��
��� �
� ������FWA ������ ���� ������� ��� 
��� !
�� "�#���	 $��� %& ���� '	 
�(�) *	 
 ���� �����	� +�,- �. /��FWA���� %& ���� '	 
�(�) *	 . 

1  ����FWA$%�&�� '��� "# �
�� �� ��01( @�  

 ����1 ��� 2,34FWA ����� 5 " 6������� 789�� �:�;� �#��& <�=� ������� ��> ?@�,� <�A ��� �BC� '	 
##���� �����-� .'���	,��D 
D ��� ������� ���� E3� ���;� F
� 6 G��H��. 

� ����� (: ?@�,J� �	K. <�A ���L�G��H��  ��M,��� %& ITU-R F.1336-1 ��D ����� ��) ##���� �����-� �#��& 1�� ���
N��OL�)  ##�) ��1��� ����1 ���� *QRS 
���L)4 × 4 ��L�	T��1 �B�@�,� �	K. U�O)� FR�1  °90 : *QRS '	 ��,�V

R�W�	 ,X /�� E3�) ����.( 

� �����(: ?@�,J� �	K. <�A ���L�G��H��  ��M,��� %& ITU-R F.1336-1 ������� ���>� *�Z 
���L)� [H� ##���� 
> \3]�� ������� ��) <�A G��H� "^��������_:� 
	�` ����a F�_�Q ��b�L.( 

� �����(:  ?@�,J� �	K. <�A ��� G��H��N���1�� c�. "�,O�	 ,X /�� F��O�� �	�d� !#�K	 '	 ������ ) 6 eR�	 fg
��M,)(��D "hS  ##���� �����-� �#��& ��= ���;� 6 �	�]�L�� �BLH� ?�S  .( 

 �B�� h:��i�1� 2 ����1 ��� �����	 FWA ������ ��jk ��3��� l�)� F8�S 789�� �:�j�� FWA hS G��H� m�� 
n�,��� /�� "789�� �:�j�� ��.�� h,W) .e ���;� 2,34�(������ *o�1 \@�3= 
���Lp) " (Case c '	 *�3) m�� "

#�� ?@�,� ����	 #�K	 
O1. 
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 ���i�1 

�� ������ 	�
�� 
������ �FWA
����� ���� �� ���� ��  

� �����( � �����( � ����� ( 

GHz 28 GHz 31 GHz 28 GHz 31 GHz 28 GHz 31 
	�
��
� 

4− 5− 4− 5− 4− 5−  ������ ��	(dBW) 

18,1− 17− 18,1− 17− 18,1 17−  ��
�� 
������ 
������(dB(W/MHz)) 

6 7 6 7 6 7  ������� ����(dB) 

138− 137− 138− 137− 138− 137−  �������� 
!��"� 
#���$� �������
(dB(W/MHz) 

15 15 15 15 15 15  %&��' (�)(dBi) 

*&�+	 

,����� -.�/

*&�+	 

,����� -.�/

%�) %�)  
�0���� 

ITU-R 
(1)F.1336 

 
�0���� 

ITU-R 
(1)F.1336

 %&��' 1�2) ��4�� 567 
#8�910( 

*&�+	 

 -.�/,�����

*&�+	 

,����� -.�/

 
�0���� 

ITU-R 
(2)F.1336 

 
�0���� 

ITU-R 
(2)F.1336 

 
�0���� 

ITU-R 
(2)F.1336 

 
�0���� 

ITU-R 
(2)F.1336

%&��' 1�2 

) ��4�� 5;��<��11( 

0 0 0 0 0 0  
#=>��� ?���	(dB) 

 @�>��� A��!B
 %��C��
%��!��� 

 @�>��� A��!B
 %��C��
%��!��� 

>��� A��!B @�
 %��C��
%��!��� 

 @�>��� A��!B
 %��C��
%��!��� 

 @�>��� A��!B
 %��C��
%��!��� 

 @�>��� A��!B
 %��C��
%��!��� 

���4��� 

(1)
  ��4�� D E����� 
���F� *&�+
�� G���C/ H�0�! 
�I$� 1�2 JK#15 
�0���� L� ITU-R F.1336. 

(2)
  NOE�KF�! 
�I$� 1�2 L� PKQ#)1R (8)1S (8)1� ( 
�0���� D E�����ITU-R F.1336. 
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W���10 

 ����� ����� !"�#� $%�&' ��() *�+��,�- 

 

 
W���11 

.�#/01� ����� !"�#� $%�&' ��() *�+ 
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2  ����FWA�
�� "# �
�� �� ��01�2  

 ���i� 6 #�)3��� �����	  ��� �FWA���� %& ���� '	 ���� 6  . 6 R�O��:� 6 �#�� ��-Rq� �R�1 rWs 
=t� :�
 ����FWA���� %& ���� '	  . ��� 
-�)�FWAN��@�# ���� �:�; �R��Q �R�`& . 

 

 ���i�2 

 	�
� 2 3"�45� ��� ������FWA
����� ���� �� ���� ��  

F� L� TU�C�� ��
�� 
��K��� 
���0 ��7 

��K� 

GHz 31 GHz 28 GHz 31 GHz 28 

 ������ ��	(dBW) 10− 10− 23− 20− 

 ��
��(dB(W/MHz)) 17− 18,1− 30− 28,1− 

 ������� ����(dB) 7 6 7 6 

 �������� 
!��"� 
#���$� �������(dB(W/MHz) 
 %&��V� (�)(dBi) 

137− 138− 137− 138− 

 43/37 42/36 43/37 42/36 

%&��' 1�2 
�0���� 

ITU-R F.1245 


�0���� 

ITU-R F.1245 


�0���� 

ITU-R F.1245 


�0���� 

ITU-R F.1245 

  
#=>��� ?���	(dB) 0 0 0 0 

���4���  @�>��� A��!B
%��!��� %��C�� 

 @�>��� A��!B
%��!��� %��C�� 

 @�>��� A��!B
%��!��� %��C�� 

 @�>��� A��!B
%��!��� %��C�� 

�
� ���1� A��C�� %&��V� (��! W�K�# ���� 31 GHz 
����� X�� 543 dBi ���! %&��' �!��< 60 �!��< ��C�! 5?J�K��� N������� T� 
 
�����37 dBi ���! %&��' 30?@+��� N������� T�  . ���! %&��' ���K��� Y���Q#830 L� ��)R N����<�O T� °5 ��K��Q# H�Z[8 

 ���! %&��'60T�  .<8 A��C�� 
��\ D 
������ ]=' ��� ^��28 GHz. 
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 ���i�3 

 ��� ������FWA���� �� ���� �� 	�
� 2  

�
��
� GHz 31 GHz 28 

 ������ ��	(dBW) 3− 3− 

 ��
�� 
���. 
���)(dB(W/MHz)) 6− 6− 

 ������� ����(dB) 7 8 

 �������� 
!��"� 
#���$� �������(dB(W/MHz) 

137− 136− 

 %&��V� (�)(dBi) 46/37 46/36 

%&��' 1�2 
�0���� 

ITU-R F.1245 


�0���� 

ITU-R F.1245 

 
#=>��� ?���	(dB) 0 0 

���4��� FSK-4 %��!��� %��C�� @�>��� A��!B 

 ����
�1� A��C�� %&��V� (��! W�K�# ���� 31 GHz 
����� X�� 546 dBi �!��< ���! %&��' 90G��#��< T�  ��C�! 5?J�K��� N�������  �!��<
 
�����37 dBi  %&��' ���!30���� G��#��< T� ?@+��� N��� . ���K��� Y���Q#8 ���! %&��'30 T�  P)_� N����<�Z� L�°5 H�Z[8 

 ��K��Q# ���! %&��'90T�  .^��<8  A��C�� 
��\ D 
������ ]=' ��� 28 GHz. 

������ 3 

���	
� ���
	
 ������ ���� �� ������ �� ��!"	#�$ %HAPS  
���� &'  �!()*FWA +���
� , GHz 28,35-27,5 

1 ����A� 

����
� ��� '	 
=����� r���) ��9	S� 
=����� r����� ��uB�	 vj��� � HAPS ���� %& FWA h8��� w����� 6  

GHz 28,35-27,5 �����-�Q xy ?@�,�� ���L���1�� 
�(�) z��{ %& � . ����	 ��� %& 
=����� 2,34�FWA "
 ��� ?@�,� ELD hS N�j|�� ��O�FWA�� ,X  �HAPS����B	 ����	 ,�  .����) r��� ���@�,J hS G���}�Q 
=����� 

 ����	 ����FWA ����~ ?@�,���� *�a,��� N��}� T�H)R� ����a FWA?@�,�� *�a,�Q b�L�� ����a� ��C�,���� . 

=����� r��p�� ������� ���� %& 
FWA R�1 N���S %& �OL� �}�L��  '	HAPS ,X /�� T����� ���@�,� *�a,) G���}�Q "
 ��� �BC�,k� ?�}SHAPS. 
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2 $�B�� C��D 

1.2  ������4���� 

 #���	 '	 
=����� ELjp�HAPS ����S ��� %& FWA �����-�Q �� ,�R���L�� 
W��� 6 �|,12 .uB��� vO�p)� ��
 6 �#R�,�� rL���1.2 vj��� 6 1������� $����� N��}� ��M,��� F
� '	 : 

 
W���12 

67��/ 
�8�� 9:&; 

 

1.1.2  ��< ����' ��=�HAPS 

 ���� ����� ������� \@�3d� ���L)HAPS ��M,��� %& ITU.R F.1569 .� ?� 
=����� �R�1 h,W) hS G��Hp�� �R���
 ��.����� ��}�W�� �����(e.i.r.p) ���> ������� �K;� *�Z '	 HAPS 6 ���C�	 ���� ,X v`^)�� ##����  . G��Hp��

q� ��-R 6 �;� +��H�������� r������ G��g~. 

2.1.2  3"�4� ���FWA 

#�� 
��
��� 6 ������ ���� �����	 �M� 2��M,��� F
� v.8	 '	  .� r��*|� ���C�	 ���� ��� ������ ���� 
N��}� ?@�,� ���L) ����KQ �|��H�� ����� ���@�3.q rL��� 6 #R�,�� ,j��� /�� 3.2. 

3.1.2  
������ ��� FWA 

#�� 
��
��� 6 ������� ���� �����	 �M� 2��M,��� F
� ��}��� v.8�� '	 . 

2.2  ��
� ����HAPS 

 �M� #��
�W�����,����  ����� ?CHAPS ��M,��� 6 ITU-R F. 1569 . ���i� 6 #�)�4 �����L�� �������� �M8= 
r������. 

20°

O S

�
�!" 

 ���#$HAPS

%&' ��*' +$ �,��-�HAPS

��. ���/" 0�	 1�'HAPS:5523 

O: ���#- %&' ��*'HAPS 

S: 40�5$ ��.FWA��6�0-� ��*#�� !#7  
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 ���i�4 

 	�
�� ����' ��=� ������HAPS 

�
��
� ����� 

,I$� EJ� 367 

EE���� ���K��� ?E��B ���� 4 

 ?�J/e.i.r.p.
�����   ;�U��� `U�#aB ��4�� 13 (°90 fl) 

 (�)V�%&�� 16,5   aBdB 29,5 

%&��V� 1�2  
�0����ITU-R F.1245 

?��>F� 
��CF� ��/ b+c  55 T)) ;��<�O� 
#8�I� dE_� J$�°20( 

 �O�)367 �����-� �#��& 
	�� �	K. R�1 ##�)F��QRS  (4) ?D l��� ���(�) ���� '	 ��-Rq� �R�1 HAPS GR~� ,X 
w,���T��`q� ����_�� ##���� . �R��� /31~� z8(�� �B��� e.i.r.p. !� ?@�,J� '	 ���W�� 367 
W��� 6 �	K. 20 6 
 
��
���3 vj���� 1 ��M,��� '	 ITU-R F.1569 . 
W��� �	S13 �R�1 r��1 �B�p�} e.i.r.p. 
W� v` ##�) �B�� ��	 �BHM,Q 
�����	6  ���> f�� ���� '	 �}�L�� HAPS 6 '��	���	 ���_�  6�� b�L)°0 � °90 R,>� '	 x .( r������ 
���L��

 �R�1e.i.r.p. �����  “f1 °90”) m��  ����� 
=��) S,-S EOLFWA ���� �	�= ����	 eR�= HAPS. 

 
W���13 

 
0�>e.i.r.p. ���< �?�@�� HAPS ��A�&� 397��()  

 
0�>e.i.r.p.�?�@��  ��<� �� �B�-5� 6���� HAPS (dB(W/MHz)) 

 

 

 

 

 

 

 

 

 

 

 

 

 

��. +$ �,��-�HAPS) 23(

 ��
��

��
e.
i.
r.
p

 �
�	


�� 
(d
B
(W

/M
H
z)
)

 



 �������ITU-R F.1609-1 

21

3.2  E.�1� �
�FWA 

1.3.2 3"�4� ��� ������ 

 ����	 ��� �����	 r������ �
� 6 
���L)FWA ���i� 6 �#R�,�� 2
��
��� '	 2  F
� ?�j����M,���  . 

2.3.2  ��?%�C)���"4� 

������ ��	�
: 

 ��M,��� ���)ITU-R F.1498 ����� T�H)R� ����a ���@�3.q ���9	 FWA w����� 6 GHz 38 ��j��� ���:,�� ��9	 ��� "
 ��W��� 6 ��Q���� ��9��� ��W��	~�6� 8 �B�j�	 6 1n�,��� /�� " .����� E-��	 ,X /�� ��@8	 fg h:�9�� h�
�� r
N��C +!#R *�a,��� ��� c�. 
=����� .�33]�� ��1����� 6 r���	 *�a,��� hS ��M,��� F
� G��H)� . ���� "��9�� 
�O- /��}

 �OL�� *�a,��� ?W��	~� e�,����%53 '	 
1~� T�H)R:� ����a w���� °10 . %& ������ F
� �,j�)�(%10,6=) %5/53 ��� 
 T�H)R:� ����a°0� °2� °4� °6� °8n�,��� /�� "��L;� 6  . 
W��� �O��14 T�H)R:� ����a ����a,) r������ 6 �	�]�L��. 

 
W���14 

���� D��&/�� 1 3"�4� ��< .�#/0FWA 

 

��
�� ��	�
: 

 hS G��H�����a�.,	 ,X /�� ��a,	 ������ ���> b�L�� . 

������� �����: 

�|q�Q "�;� +��H�� �R�L= %& �}R�O��:� 6 
=t�� !,i� 2�3�	:� �R�L= ���������  G���� <= <-,��� �},M,�� 
 
��
���Q1 .f��) �����	 r�� � �����O��� GR~� h,W) ?W� l��� ��1,��� �fOW�� �R�Ld� '	 rg��� /�� �����	 �-�R��� 

?����� v�O���� ���. 

��=S 
	�,�: 


=t� : 6 ��-Rq� �:�. 6 N���. N8	�� ��p� : ^�~ ��D�>� 6 ������ ��� ?@�,� T�H)R� R�O��:�Q �3O�� <=. 
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4.2  $�6���� �
�FWA 

 ������� ��� �����	 �-�R��� F
� 6 b����-�FWA ���i� 6 �#R�,�� 1 
��
��� '	 2�� �j?��M,��� F
�  .� ?@�,�
 '	 ������� �����<�� �� FR�1 /31S ELWQ ?����15 dB 6 ^��A h,W�� �� �,�L?-S��� ��M,��� N��}�  

ITU-R F.1336 . G��Hp� ��D hS ��R,>� ��>� ?@�,�^C�,� ���� f�� ���� HAPS ��R�1 T�H)R� ����KQ °0. 

3 ���4� ;<��� 

����p) ����	 ��� ���. 6 "rFWA�1 " +�|,��� %& 
=����� �OL� r)(I/N �}�L�� 6 ����D ���> f�� ����� ��>� �Q 
HAPS .�O�� h8W��� 15� 16R���	 a��_ ����.� ! �� �OL�I/N = 20− dB� 10− dB l��� m�� ������ ���> 

T�H)R:� ����K� �|��H�� *�a,��� ���@�3.& .f�)����@�3.q� F
� %&  �OL�� fOD �H= +��C& ����W	& I/N } ��� 
3
 �}�Lk ������ ����
3} ��R�1 70rD  '� ���� HAPS. 

 ������� ��� 2,34 �	SFWA" EL� h,W) ��} I/N f(M �Q,L>��N��C  ���� �	�= ����	 eR�= HAPS ,� ��D 
 
W��� 6 �|,	17. 
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W���15 

 �E-� �?����)�I/N3"�4� ��<  FWA :D��&�� �?@�"�G� 
�H�5� ���1&�� 9:&; EL 

 

 

 
W���16 

 �E-� �?����)�I/N3"�4� ��<  FWA : D��&�� I���?�� 9:&����EL 
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�D�' ���E ������F�I/N  �D�' ���E ������F�I/N 

���. %&' ��*' +$ �,��-�HAPS) 23(
 

A ( G���H I�3 =dB 42 

 ���. %&' ��*' +$ �,��-�HAPS) 23( 
 

 ; ( G���H I�3 =dB 36 

I N/  = –20 dB

I N/  = –20 dB
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���. %&' ��*' +$ �,��-�HAPS) 23(
 

A ( G���H I�3 =dB 42 
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W���17 

 �E-�I/N 
������ ��< FWA 

 �OL�I/N  ���� 6 ������� ��>FWA�#���	 $��� %& ���� '	  

 

4 ��9� 

 #���	 '	 
=����� ������.� �H= ����W	& /�� ������ b�HAPS ����	 ��� %& FWA 
=~� ��� fOD ,X /�� 
 ����� ��@�,���� 
	�,��� h�OL;�QFWA . �. %& �H]�) z,- �,j�	 
=��) 7��. ������.� hS %& r������ ��9	 f���

 ����	 ��� 
3} ��� fODFWA� ���� '�  ���� f�HAPS FR�1 ��k 70rD . 

 ������� ��� 2,34 �	SFWA �OL� h,W�L} "I/N '	 
1S �,3��� 20− dB�#���� ��|���}:� 
{ 6 �. . 

 ^�S� N:���	 ��a : r������ hS %& ��.8�� R�_�'W� 
=~� *	 "�����;� 
�(���� �:�. 6 
=����� �DS �H= +��C& 
h�OL;�Q  
	�,���=S R����� l�� 6 �k  +��O��?@��O�� 
�W��� ���� ��,)� !,i�. 

���������� 
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